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Setting
N identical particles in

v9 Stokes fluid

s

positions Xi velocities Vi
B B N R
Fluid velocity u 23143 IR

AU TP O in RD B

Ip dir o o in 21413
Fluid

u V on BT
uk 0 as Its so

I X
Stress of pldt au tut

un AU Ip O div o o
















































































































































































Force
Force of particle Bi on fluid Fi Sounds

OB

A Vi
particle dynamics

a g Fi

8 RN interaction strength

GÜTE 5 strength of inertial effects

S di
Consider the limit N o R O 8 8 010,0 5 so
















































































































































































KertialssDynamics
For fixed N formally take Eso Fi g

Au tip O in RUB
dir o_0 in RH B

U V on BTSedimentation BC

founds fg ist
Vi unknown

ul 0 as Also
Resistance matrix RU Wilms Fi

RHEIN F D E.V Hutu dx

µ
Stokes Transpitequation

If Salo So y e an we expect S s with

Transport

Gta rs 0Stokes

meanFeld Teritraction
5 So
SIA Gg

SEI Gg
AUATYP 9 9 in R

dir 0 in R
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V FESCESAR
GRµV

s IGE
gepf R V

Vote k Edge Jajat

XD Rot Vlt Xo tvotrfo vdf.tt
0

Äh
b G er

HT NHL Kohl Ello Vd
















































































































































































Resch
Assumptions A1 gg Kilo Kilo N minimal distane

AZ Vito Klo 3 8,7 Kilo Kilo Lipschitzvelocit

As mit Vilollec
bounded velocity

A di so vanishinginertia

AS 8N NR O.o finite interact

TheorewilltöferSYI HT 07N EN UN Note
µ

Hittin Iii

where Wz Wasserstein 2 distance

Ülok RÜHE G g

Why should relaxation still hold

V la FF
















































































































































































hey Fi GRU GRU

Vi wants to relax to Tg
Transport Stokes

Probte t

X X H X Ski v1
o t

IV Vil V V GIF Fil
S

Ik Vil

Ni vil est

Xi xd seit








































































































How to get rid of error terms

Keeping trackofthevelociti
Consider 50 inertia are present

Let Gfk 808 and Salo Go We expect fast
gravitationalacceleration d

9 traf
sdindgyfjjijtom.tt

Vlasov
Brinkman AVIV fluffdu dir 0

Brinkman
G Go

9 fdr fo
monokie

The Wien 5 ftp.stfotol e't

Willis SukT.at'd
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